
1.  
1 2 ? 1  2  

16 2 ? 16  

1 16 ? 4  4 2  

4 16 ? 16  4[ / ]� 4[ ] = 16 [ ] 

16 2 16 16 ? 4  
 
 

2.  
2.1  

 

 10  2  16  
 0 0 0 
 1 1 1 
 2 10 2 
 3 11 3 
 4 100 4 
 5 101 5 
 6 110 6 
 7 111 7 
 8 1000 8 
 9 1001 9 
 10 1010 A 
 11 1011 B 
 12 1100 C 
 13 1101 D 
 14 1110 E 
 15 1111 F 
 16 10000 10 
 17 10001 11 
 18 10010 12 
 19 10011 13 
 20 10100 14 

 
 
2.2 (10 2 ) 

2 10  
 (1)2 (10)2 (100)2 (1000)2 
 =(1�20)10 =(1�21)10 =(1�22)10 =(1�23)10 
 =(1)10 =(2)10 =(4)10 =(8)10 
 

 (10000)2 (100000)2 (1000000)2 (10000000)2 
 =(1�24)10 =(1�25)10 =(1�26)10 =(1�27)10 
 =(16)10 =(32)10 =(64)10 =(128)10 
 

 (100000000)2 (1000000000)2 (10000000000)2 (100000000000)2 
 =(1�28)10 =(1�29)10 =(1�210)10 =(1�211)10 
 =(256)10 =(512)10 =(1024)10 =(2048)10 
 



 (10101001)2 (10111000)2 (10010011)2 (11111111)2 
 =(128+32+8+1)10 =(128+32+16+8)10 =(128+16+2+1)10 =(100000000-1)2 
 =(169)10 =(184)10 =(147)10 =(256-1)10 
    =(255)10 
 

10 2  
 (95)10 (127) 10 (257) 10 (300) 10 
 =(1011111)2 =(1111111)2 =(100000001)2 =(100101100)2 
 

 (222)10 (255) 10 (127) 10 (150) 10 
 =(11011110)2 =(11111111)2 =(1111111)2 =(10010110)2 
 

 

2.3 (2 16 )   
16 2 16  

 (0000000000000000)2 (1111111111111111)2 (1111000011100001)2 
 =(0)16 =(ffff)16 =(f0e1)16 
 

 

 

 (1101001011000011)2 (1011010010100101)2 (1001011010000111)2 
 =(d2c3)16 =(b4a5)16 =(9687)16 
 

 

16 16 2  
 (0)16 (ffff)16 (123)16 
 =(0000000000000000)2 =(1111111111111111)2 =(0000000100100011)2 
 

 

 

 (4567)16 (89ab)16 (cdef)16 
 =(0100010101100111)2 =(1000100110101011)2 =(1100110111101111)2 
 

 

 

3. 2  
2  

 
 1010101010101010 1011011101110101 1111111111111111 
 + 1110101110101011 + 0011011101010101 + 1111111111111111 
 --------------------------- ---------------------------- ---------------------------- 

 11001011001010101 1110111011001010 11111111111111110 
 
 
 
 1010101110101010 1011010101110101 0101101110110110 
 + 1111101110001011 + 1011001101010111 + 0110110111111011 
 --------------------------- ---------------------------- ---------------------------- 

 11010011100110101 10110100011001100 1100100110110001 
 

2 4  

1 16 4 2  



4.  
2

10 2 16 16

(COMET II 1 16 )  
 
 10  2  16  
 5 0000000000000101 0005 
 4 0000000000000100 0004 
 3 0000000000000011 0003 
 2 0000000000000010 0002 
 1 0000000000000001 0001 
 0 0000000000000000 0000 
 -1 1111111111111111 ffff 
 -2 1111111111111110 fffe 
 -3 1111111111111101 fffd 
 -4 1111111111111100 fffc 
 -5 1111111111111011 fffb 
 

10 2 COMET II 1 16

8  
 
 (-20)10 (-111)10 (-88)10 
 00010100 01101111 01011000 2  

 11101011 10010000 10100111  

 11101100 10010001 10101000 +1  
 
 (-52)10 (-15)10 (-35)10 
 00110100 00001111 00100011 2  

 11001011 11110000 11011100  

 11001100 11110001 11011101 +1  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

2 2
 

2  

 

+1  
 



2 8  
 

(-1-24)10 (25-10)10 (15-33)10 
 
 (-1)10  (25)10  (15)10  
 00000001 00011001 00001111  

 11111110    

 11111111   +1  
 
 (-24)  (-10)  (-33)  
 00011000 00001010 00100001  

 11100111 11110101 11011110  

 11101000 11110110 11011111 +1  
 
 
 11111111  00011001  00001111 
 + 11101000 + 11110110 + 11011111 
 ----------- ---------- ----------- 
 111100111 100001111 11101110 
 

7 1  7 0  7 1  

8  8  
 
 11100111 11101110 
 00011000 00010001  

 00011001 00010010 +1  
  00001111 
(16+8+1)10=(25)10 (8+4+2+1)10=(15)10 (16+2)10=(18)10 
 

 (-25)10  (15)10  (-18)10 

�


